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Question type: Subjective
What are the advantages of a letter of credit to an importer?

Maximum Characters 500

While accepting a LC, the supplier guarantees to meet the terms and conditions of etter of credit with documentary proof. i
This is one of the major advantages of LC to an importerbuyer. This assurance provides security to buyer for future business plan.

Aletter of credit ransaction reduces the risk of non performance by the supplier, as the supplier prefers LC than other transactions due 1o various
reasons which protect him than the buyer

exporteriseller receives payment of exported goods|
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Advantages of Letter of Credit to an Importer:
1) Importer is guaranteed to receive timely delivery of goods.

2) It makes structuring an advantageous payment schedule easy.

3) Expediting customs clearance and ultimate delivery as the documents are received quickly.

4) It gives an assurance to the importer that the payment will only be made to the exporter upon presentation of documents evidencing the shipment of goods.

5) It reduces the risk of non-performance of the exporter.
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Question type: Match the following

Match the Following

Dividend rate 15% to 20% 7.5% of Profit transferred to Reserve |~
idend rate 12.5% to 15% [ 5% of Profit transferred to Reserve -
ividend rate 10% to 12.5% [ 2.5% of Profit transferred to Reserve |~ |
Dividend rate above 20% [ 10% of Profit transferred to Reserve |~ |
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‘Question type: Multiple choice multiple select
Reasons for Importance of capital budgeting decisions are that the decisions

¥ have long term implications
™ involve large amount of funds
M are ireversible

[ are easy to make

pyright Statement
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‘Question type: Multiple choice multiple select
Operating Cash outflows are

4 Purchase of raw materials
™ Payment of wages

(] Payment to Creditors.

[ Payment of Loan Instaiments
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Question type:

in the blanks Marks: 1

Part | of Schedule VI of the Companies Act, 1956 deals with the format of | Balance Sheet ~|
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Question type: True or False

Projects for venture capital financing are more risky in nature and involve larger gestation period.

O False

® True
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Question type: Multiple choice single select Marks: 2

If a company raises the capital from a selected few investors it is called as
© Initial Private Officer

© Initial public offer

@® Private placement

© Book Building
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Question type: Multiple choice single select Marks: 2

Earnings per share is calculated as

®

(Net Profit-Dividend on Preference shares)/No. of Shares

o)

(Net Profit-Dividend on Preference shares)/No. of Preference Shares

o)

(Net Profit Dividend on Preference shares)/No. of Shares

o)

(Net Profit-Dividend on Preference shares)/No. of Dematerialised Shares
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Question type: Multiple choice single select Marks: 2

Float indicates
® The difference between the bank balance as per the bank book and as per the bank pass book/bank statement
© Difference between the current assets and current liabilities

©  Time allowed by the company to the customers to pay their dues

o)

Time allowed by the creditors of the company
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Question type: Multiple choice single select Marks: 2
Earning Before Interest and Tax (EBIT) is 15 crores. Weighted average costis 15%. Value of the company is
@ Rs.225 crores
© Rs.2.25 Crores

© Rs.100 crores

© Rs. 1,000 crores
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